Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.7.dwg

STEVES AND SONS

203 Humble Ave.

STEVES

San Antonio, TX 78225

DIRECT GLAZED FIBERGLASS DOOR
DOUBLE

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

1/4 LITE

1/4 LITE 3 LITE

REGENCY HORIZON 1/4 LITE

74" MAX. OVERALL
FRAME WIDTH

81.5" MAX. O.A
FRAME HEIGHT (INSWING) |

80.75" MAX. O.A.
FRAME HEIGHT (OUTSWING)

Il

CONFIGURATION |

[ DESIGN PR

ESSURE (P51

........... | omension |
NO +20.0 +20.0 | -25.0

XX 74.0" x 81.5"
YES +40.0 +40.0 -45.0

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind borne debris protection this product is required fo be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #

1 Typical Elevations, Design Pressures & General Notes 6 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 7 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Door Panel Options 8 Vertical Cross Sections
4 Elevations 9 Buck & Frame Anchoring & Hardware Details
5 Horizontal & Vertical Cross Sections (2X Buck]) 10 Bill of Materials & Components

June 7, 2022

n
)
o)
Y]
oM
z
__]'\
om
N v
E omw
ZOo0go
y <Td
® = = .
00 o
0 g .10=
Zowm
\\ 5 8L
@& ON - 0
- o o
o O XZz0
° = z 0w
‘-Eo; S0
o [a]
O.%O _I.CL'J
R 502§
LTy Donow
2
0
¢ c
E 0% §
3 U .,
g cul
a 2o

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 3/10/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41467.7

SHEET _1 ofF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.7.dwg

J3 il \\
e 24" @ @ =12 2.4 \\\\«
T e ot ' > K
b'@. X bb \ \ / ] .A'd 6. . . § I:’ gl
i S a Lo COMPOSITE x ZOid
R T F e * ¥ s RS CAP 293
R SRR T e | Zeh
ek I SV N ' 7
INTERIOR LATCH STILE
HINGE STILE LOCK BLOCK COMPQOSITE
AT / 1"\ HORIZONTAL CROSS SECTION 19.75'LONG (v CAP it
\2/ (LVL) )
v o
BRI .,7,"
FIBERGLASS SKIN —FF» *» %",
1/2" e "'.:.V'.
GLASS BITE e
—— 1"O.A. THICK GLASS e
INTERIOR A
. 35.75"MAX. DOOR 35.75" MAX. DOOR | 1/8" TEMPERED GLASS EESEN
WIDTH T s | DECORATIVE INSERT REENEN
22.25" MAX. 21" MAX. GLAZING <# s .} ¢ % SRR
DLO. D.LO. COMPOUND [ AR SPACE Lol
WIDTH WIDTH P 1 /8" TEMPERED GLASS ~ |~
b EXTERIOR
SWIGGLE SPACER
m ; ////’ /4//’ ||~ SINGLELITE (3X) C) GLAZING DETAIL 4
1 4 y -t 6~3/ 16" X ]4—3/ " D.LO. EXTERIOR INTERIOR
\2/ Vi Yo V4 w/ FALSE MUNTINS - . —
< 716"
I XE GLASS BITE
5320 & =2 INTERIOR 1"O.A. THICK GLASS
o ZE o 2= 1/8" TEMPERED GLASS 1 ~
L =3 B3 = el
8~ a G - =0 € GLAZING <87, | A — . L
= ) T @ COMPOUND | =~y | -AR SPACE ey
= X X S T 1/8" TEMPERED GLASS M
X EXTERIOR , \} ,
TABLE GLAZING DETAIL RN
FOAMCORE—, .  .° - &
(POLYURETHANE) MR in
MANUFACTURER MOD BOTIOM RAILL 1= 3
L REINFORCEMENT
LATCH: SIGNATURE SERIES (LVL)
KWIKSET | DEADBOLT:  SIGNATURE SERIES (980) |
o el BOTTOM RAIL— 1L
40 ) FIBERGLASS DOOR PANEL 40 ) FIBERGLASS DOOR PANEL SCHLAGE - (COMP.)
1/4 LITE 1/4 LITE 3 LITE DEADBOLT:  BSON
ROCKWELL | LATCH:  PREMIUM HANDLESET 2"\ VERTICAL CROSS SECTION
FIBERGLASS DOOR SKIN: MIN. 0.08" THK. DEADBOLT: _PREMIUM DEADBOLT \2/

CORE MATERIAL: POLYURETHANE FOAM

No. 43409
*

June 7, 2022

BUILDING CONSULTANTS, INC.

Lyndon F. Schmidt
P.E. No. 43409

Ry

P.0. Box 230, Valrico, FL 33595

Phone No.:

813.659.9197

FBPE Registry No. 9813

FIBERGLASS DOOR

STEVES & SONS
PART OR ASSEMBLY:

PRODUCT:

DOOR
PANEL DETAILS

BY

NOJ DATE

REVISIONS

oatE: 3/10/22

SCALE:  N.T.S.

DWG. BY:

RW

CHK. BY:

LFS

DRAWING NO.:

FL—41467.

7

SHEET _2 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



“ON| SLNVLIINSNDOD SNiang

MY 2202

£186 ‘ON Ausibey Idg4 SNOISIAZY
LBLB'6S9°CLE 'ON euoud i
SESCS 14 ‘ODLIDA ‘OCZ Xod ‘O'd §v SNOILLJO TINVd H00d Ad 3lvg [ON ﬂ GBI _m_b: “N mw_
*ONI ‘SINVLINSNOD ONIaiing @ TKTENISSY 80 1avd W | . s
SRy, ¥00d SSV19438l S 2¥ ™
S O/g ., 60¥SH ‘ON “I'd ™l B E|g !
////a ......ﬂmnw.#.«....g&\\\\ IPHUYDS ‘4 uopuk] SNOS % S3AILS E M ilo S ﬂ m
ld& - "t VN :Ag poundesd syuswinoog +1oNA0dd HEAEIES m &
g S T20T ‘L dung
3¥i ¥
+ . eoveroN
Z s 8
Sapee L] /
\\\\\\ szum r////
Hipppany
® O
w
/.//«ﬂ( "
~ womd
) Ll
- > = =
N - ol
™. A N
- N
—
N
o
o
X >
N E
e w G
b= (LN
f— R
X <
e
//M, -

BMp 2 297 LY-1\0202) L9vLy-TH\sBUImMeId - D\SIIYIS ADNIDIY L9vLr-Td\s[eroiddy 1onpoid BPHOL - Y\IUSUBULIS - SUOS pue S9ABIS\SIUBID\:Z



TON| SINVIANSNGOD SNIcINg "M'd 2202

£186 "ON Ansibey Idgd SNOISIATGY

L616°6G9°CL8 FON suoyd A8 31vQ [ON N |o
SESEE 714 ‘O9UIDA ‘OFZ Xod "O'd \Su SNOLLVAT 4 Slulzlol =
"ONI SLNVLTNSNOO oNidTine @v KIENISSY 40 1avd SIE|%|F]., €18

witiliy,, -z $ =
115 17 4000 SSY19M3gId ~ o ey
o J.(:JO\Q&A\\\ 60YEY ON “F'd SNOS % S3AILS Mo lE| &g | _
Sy ooy XYy, PSS A uopuAT g m g|lglET|EB
S o V7% 1A pespdeld sjuswinoog 10Na0¥d HEITHEE &

TT0T ‘L dung

(2
\7/
J

/
V4

(2 2
N
X

o
o
/2
\8 /
ELEVATION
XX

BMp 2 197 LY-14\0202) £9vLy-1H\sBuImeIq - D\SIIYIS ADNIDIY L9vLy-Td\s|erciddy 1onpold BpHOH - Y\IUBURLLIB - SUOS pue saAs1IS\sIuAl|D\Z



* ZAClients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.7.dwg

P

~N

1-1/4" MIN,

- <G

a5

0.15" C-SINK
(TYP)

I —

SAVVIVVAAA VLY

AL AARARANRARAR NN &

AN

G

INTERIOR

EMB. (TYP.)

Note:

/"1 "\ HORIZONTAL CROSS SECTION

&/

Shown w/ 2X Buck
Outswing shown (Inswing similar)

1. Screws located 8" from each end of astragal plus
four (3) more located @ 23", 37" & 48" down from
the top of the astragal (5 screws total - countersink 3/16").

EXTERIOR

A

1-1/4" MIN,

EMB. {TYP.

SEENOITE 1

<
v
v
LTI

AATANNANANAR RN

EXTERIOR

INTERIOR

/ 2"\ VERTICAL CROSS SECTION

5 / Shown w/ 2X Buck
Outswing shown

W

(%
X

7”4\ HORIZONTAL CROSS SECTION

\5J QOutswing shown (Inswing similar)

S

EXTERIOR

7“3\ VERTICAL CROSS SECTION

/4

5

Shown w/ 2X Buck
Inswing shown

INTERIOR

CHunyy,

Leesan,
Y
1)

\
<.

> W

\CENSg

sHEeT 5 oF 10

0
[+]
0
)
RE
z
m.“—mn
E dowm
zZ30g0
g T
T 00 o
o R S
253
W R
& ON - 0
B o x2 o
Bty Zdo"
80 89 .cuw
o U« T oo
Nu_(l)n D e m
~N ¥ [ O o N TR 1
SEs b
a5 e
~1E 6%
o3 U .
g1 s
0 o
<
23
o 2m
0S| ‘x
S
8o L
w
Alsy B2
°3 e o
Sl I
nHdls S5
%’%ngﬂ
S
Ho|2 N9
o gog
5 =SS
[ =
e g ©
& 5
)_
m
%)
=z
o
n
o
)
z
n
wl 15
— k¢
< -
ol |3
o
T z
O [n]
=z 0
juj
pATE: 3/10/22 |z
fa)
scalt:  N.T.S. 2
3
DWG. BY: RW o
cHk. B> LFS 2
DRAWING NO.: z
FL-41467.7 |Q
N
©




"ON| SLNVLINSENGOD SNIaTng "Mm'd 2202 Q)

atliiliie
* L

€186 ‘ON Ansibey 3I4g4 (408 XL) SNOLDIS SSOMO SNOISIAGY
L6L6'6G9°CLE 1ON euoyd F
SESEE T4 ‘OOUIBA ‘OSZ Xog ‘O'd § TYOULYIA % TVINOZIMOH A8 31vd_TON 8 sl=|P .-H m_
_o_d__ _..m.rzﬁ._:wzoo oNIgTINg g& XINISSY H0 19vd WM El1H. Qs
Wi 7 ¥00a SSY19438ld N REERI
//a,m.vdyw.umiwxm.%\\\ Sovey ON dd SNOS ® SIAILS DBl E|g _
O30 yamiory . 7, PIUUDS "4 uopuky EMG K.WF &
~ & % \J\\&m pelodeid spuewnsog 19Nn4ao0dd 28|81518 &
. . - €
. - CC0T "L sunf
J ez
»i N PN
£ - 6OoFEYFON ¢ I
“\ -ao- K ll
\\\\ «mt\ow.-%‘o \‘.%0-) ’//l_ll
\ se -
“u,, WHOS W
T
o
]
02
[
=
=
O
O
1T
(751
[ 7]
ty
S
SEs
<52
W [%]
2lc2
ac|3s
wioz
SIS E
[2'4
. ]
02 0N ~O
jEN)
>
L
b
(T as py
, N o ("dAL) "gwW3
b, ” m .Z_E :ﬁ\ wl_.
: ® ¢ B
=z
T : = =
. 2
m A
“a o
b (7]
s o6
S &laz
s C e QO
. A <=2
. Sze
y £|52
. n >|50
Y (274
= S & zw
oA o
. ><
("dAL) "gW3
NIW .F/L-1
o o
o]
Q &= =
i > o -
- [
W £
‘\\\Q a .w
[ 7]
vl £
/ S| 5
ozl &
Olys
22§
. Oz2
=0~ __  Slgs
- Zo ol3e
INE sE 953
N
s v s v N w5 I W; e .
R . M «W . % X

BMP L 29vLy-14\0202) L9vL-T4\SBUIMEIQ - D\SIIYIS ADNIDTY L9¥Lp-1d\s|eroiddy 19npoid BPLOI - Y\IUBULBWLIR - SUOS PUB SaARIS\SIUBIDNZ



SONG SINYAINSNGOD aNIdINg "M'Y 2202 (@]

£186 'ON Ansiboy Id4dd SNOISIAGA
L616°6S9°CLE ON 8uoud (AYNOSYA 01 103410) SNOILOS g TIva FON ~
seses 14 ‘eouion ‘otz xoa 0'd [l SSOYO TWOILY3A % “IYINOZINOH Slulzle| < S
‘ONi 'SINVITNSNOO ONITTING @ ‘XTGAI5SY U0 L1avd SIEIE|=]. €8
\ 1 —|=Z 5 -
U NYNG s, e ot e ¥000_SSv19438ld Sl E TN
S, e IS0, Borey, A SNOS #® S3AILS DlalBlElg L
S yaiioyy-.) &\\ IPILYSS "4 UOPUAT i m slelET |G
~ N *e, \v\\vAm peJpdeid sjuewinsog 10NQao¥d 3| & an 5 W &
b 5 TT0T ‘L sunf

-

A ttiilis
f

{274
)
i =
—_
£ o
G
o
|2
Ao
o2
&|o
Ol s
<|22
ULz
=c?
&133
SIS
o ™
o
c
('dAL) "8w3 -
"NIW 7/ 1-1
ot ('dAL) "aW3
NIW ./ 1-1
oz
0]
m—
=
= =
o
i
“ m -
72 g
Q
[7. 184
1% 11*]
oz
oS
Ol5 38
- o5
<=
up?
EIS2
O.o'
g 553
&
= N~
[5 &

INTERIOR

Outswing shown {Inswing similar)

/1 \ HORIZONTAL CROSS SECTION

\7/ Shown Direct to Masonry

BmMp 2971 1-19\(0202) L9rLy-14\sBuImeIq - D\SIIYAS ADNIDIY L9¥Ly-Td\sjerciddy 1onpoid epuUOjd - Y\UBURWIS - SUOS pue SBABIS\SIUBIDNZ



TONE SLNVLTINSENGD aNiaHng ‘'m'd 2202 O

€186 ‘ON Ansibey Idad SNOILDIS SNOISIAGH
LBLB"6S9°CLE 'ON euoud i
GBGEE T4 ‘ODLIDA ‘0SZ Xod ‘O'd § SS0HO IVOILH3A A8 3Lvd. TON S T ” m_
o._,_:_ _..whzﬁ.szoo oNIaTINg \Wmv XTEWASSY 90 Luvd B e T
\ 1 —|= & —
W 7 ¥00d SSY19¥3814 Z % |
2 WNoye s, 80vSy ‘ON ‘3'd SNOS % S3AILS S, 8] 5]e |
///«U&OEO@&.. %, WPIUYSS ‘4 uopuky gl m s||ET | B
I/&... .... 7% kg pespdeld sjuswinoog 110NQ0yd 181815 m %
T2 220T °L duny
¥ HE
L . 60vEY ‘ON s -
“ 0¢. oo. III
\ .. ..
~, &Qwezmoaw) &
, sees Ty
1, WHOS W
Hippn

°a =
& T S
— & T
m# . e
= > S “
O @ g
,. P va mm
, i Ol
t el
I . —
\ |2
R >0
- L
o />
Ol (o~
R o
5 @ ('dAL) ‘a3
i NIW /1L

/1 "\ VERTICAL CROSS SECTION

w Inswing Threshold

('dAL) "awW3
NIW F/1-1

@

BMP 2 29vLi-19\0202) L9¥Lp-Td\sBUIMBIQ - D\SIIS ADNIDTY L9¥Lp-T4\s|eroiddy 10npoid epLOlS - Y\IUBUBWLIS - SUOS PUE SaASIS\SIUBID\Z



Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.7.dwg

FRAME CORNERS ATTACHED w/ (3) 7/16"
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2)
#7 X 1-5/8" DRYWALL SCREWS @ HEAD & SILL
(TYP)

. ¢

YP) |
( ) _ “_“ _ . Bt st B S aned 2" (TYP') ] 3n (TYP.) e — g 6" (TYP.)
i [~ 4P 4 4' (TYP.) —— ’ !
'_J T L_.__._.I- P I KT 1 T T T [/
== -+ % E e § =3 SEE HINGE
S — (L)2xsucx -t = o X DETAL
(F)xBuck -0 (TYP)
2XBUCK 1L =+ FRAME [l DIRECT TO e | — >
HEAD & JAMBS MASONRY \\ ASTRAGAL/SURFACE
\\ (TYP.) HEAD & JAMBS BOLT STRIKE BOLT TEE
L A _ (TYP. DETAILS 1 1
OF SEE LATCH
| s g = & DEADBOLT
= 4 ‘ — -l 5= « DETAIL
TE DOOR SILT = g i
,:m g g_—: B (TYP.) _ TEB
K | 7 Sé Lokl 1 ' Ll
i e TN T =
/‘ HINGE JAMB COMPOSITE ASTRAGAL
7" STEEL FLIP LOCK FLUSHBOLT (5/16" @)
MASONRY @ EACH END OF ASTRAGAL
2X BUCK ANCHORING FRAME ANCHORING
DIRECT TO
MASONRY
W 1X BUCK
DIRECT TO
MASONRY i Z 2XBUCK
DIRECTTO Lilo
DR 1X BUCK \ @é; i \@
1X BUCK 2X BUCK ASTRAGAL BOLT
\
@ 2X BUCK /MO @\ @>® \
o 3= | INSWING
N > S @) —1)—12)
- Lo} ‘fl \ F—0 W\ DIRECT TO
s / F W \ MASONRY
X
2x Buck( J @ @SILL LATCH & DEADBOLT DETAIL 1XBUCK
@ 1X BUCK @ HEAD :‘ Hl, — 2X BUCK
DIRECTTO e Hl el
@ HEAD MASONRY @Z" [l \@
ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS \)
INSWING QUTSWING v
HINGE DETAIL
HARDWARE DETAILS OUTSWING

June 7, 2022

R
\\
W\

'Pu’mh\\‘

Sy

//,

7,
/,/@
BUILDING CONSULTANTS, INC.
813.659.9197

Z
P.0. Box 230, Valrico, FL 33595

Documents Prepared By:«,\a ",
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
& HARDWARE DETAILS

BUCK & FRAME ANCHORING

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 3/10/22

SCAlE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41467.7

SHEET _G oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.7.dwg

BILL OF MATERIALS

ITEM # DESCRIPTION MATERIAL
A | 1XBUCK[G>=0.42) WOOD
B | 2X BUCK (G >= 0.42) WOOD
C | 174" MAX. SHIM SPACE _
D | 1/4"X 2-3/4 PFH DeWALT OR ITW CONCRETE SCREW STEEL
c | MASONRY - 3,000 PSTMIN. CONCRETE CONFORMING TOACT |~ et

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F | 1/4"X 3-3/4" PFH DeWALT OR TW CONCRETE SCREW STEEL
G | 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
H | 3/16" X 3-3/4" PFH TW CONCRETE SCREW STEEL
7 [#10X 3" PFH WOOD SCREW STEEL
L | #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB) STEEL
M| 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P |1/4"X 2-1/4" PEH DeWALT OR ITW CONCRETE SCREW STEEL
1| COMPOSITE JAMB COMP
7 | WEATHERSTRIP FOAM
8 | SWEEP VINYL
9 |4 X4 HINGE STEEL
11| #9 X 3/4" PFH WOOD SCREW STEEL
12| LATCH STRIKE PLATE STEEL
13| DEADBOLT STRIKE PLATE STEEL
14 | INSWING THRESHOLD ALUM/COMP
15 | OUTSWING THRESHOLD ALUM/COMP
25 | #8 X 2-1/2" PFH WOOD SCREW STEEL
27 | #10X 2" PFH SMS STEEL
29 | #10 X 3' FH COMPOSITE DECK SCREW STEEL
30 | 8 SURFACE BOLT [HAGER 275D) STEEL
31 | SURFACE BOLT GUIDE PLATE STEEL
32 | SURFACE BOLT STRIKE PLATE STEEL
33 | #10 X 2-1/2" PEH WOOD SCREW STEEL
37 | ASTRAGAL STRIKE PLATE STEEL
38 | ASTRAGAL (COMPOSTTE) COMP
39 | #10X2'FHSMS STEEL
40 | DOOR PANEL -
41 | #7 X 1-5/8" DRYWALL SCREWS STEEL
42 | #8X2-1/2°FH SMS STEEL

1.25"

4.5¢"

0.75"

1

1.44"

COMPOSITE JAMB

WORLDWIDE "4EVER"

! 2.13"

14 INSWING THRESHOLD

Columbia

wood screws fo prevent the splitting of wood.

sHEET 10 oF 10

A\ T
\\\\\ 7
" el A,
- 1.44" - S A Q% )
\\ \Q.'. % ¢ ” @
< ; S o kY W - u,q)
=’k o £ azem
= > €2z
= Ogﬁ < §: 2 .5,
—.5 g oSy .r -
- .e = o ~ o~ = oO®
2“':"- SO 2800
S Z O P8 s
ok % S 2P MZ
N //// D \\\ %} S ©
1 1 \\ o] 8 © %
&, J%50
32 23%¢
5§ Eo B5T¢
858 3,58
Ay 502§
\ Qle "R @mdaol
0.94" Slew.
c 0
COMPOSITE ASTRAGAL =fE 52 §
38 Qs UV .,
58 su
=Y [4] j‘ 0.
o
28| e
2al =z
) E&
S35y 8
I|F =g
02D =5
1" o = Ly o
2.44 | B g % l(;," oG
1 | g L BRlE 4y
‘ o 5 x| M
h J 2 °
Q =
) g o
s 77 B s
| &
[2%]
4.4" !
15 OUTSWING THRESHOLD
Columbia
W
=z
\®J
n
i
CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the cormers may be adjusted to mainiain the min. .
edge distance to mortar joints. 2
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to @
maintain the min. edge distance to mortar joints, additional concrete anchors L &
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 2l 18
. Concrete anchor table: ol |3
k : ; [&]
7E !
- - : D
TAPCON® 1/4" 11/4 o rg SCALE:  N.T.S. =
DeWALT .1 4 e i - DWG. B: RW a
ULTRACON? -1/ ! 4 o B LFS |3
WOOD SCREW INSTALLATION NOTES: DRAWING NO.: .
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL-41467.7 N
3}
®)



